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Vol =
FER N E
TH4 | A TR B2 NRENT S EAR R E S T
TSy « TfE - FER B {7 % & A bl A iR
BT HE = 178, 822
THRET 2 178, 822
M e T = 37,499 | BAEMT 0.02 t

PL SM400A 4.5<t=6 ;

BYEI T 0. 02 t
PL SS400 4.5<t=6 ;

BYEI T 0.18 t
[-SS400 200X 90X 8% 13.5 ;

Kbty b 64 A
TCB S10T M16X60 ;

Kby b 8 HH
TCB S10T M16X55 ;

THREET = 15,619 | AifALER 5 m2

MVZAPS VANE S

HITALER 0. 09 m2
(BEAKE SR H)
MVZAPS VANE S

T 0. 09 m2
(BEAKE SR H)
HEREY 1)y v BEERIEL 1E

T 0. 09 m2
(BEAKE SR H)
Uiba—b (2 ¥R AR R R T)) BEEEML 1A ;

T 0. 09 m2
(BEAKE SR H)
IR RVBIIREREN TS BRI 1E

R 0. 09 m2
(BEAKE SR H)
SoRRMBARERE B RE BERE 1A ;

k% 0.09 m2
(BEAKE SR H)
SoFRBIEREL B YR AR 1]
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s foAs =
FEAENGRE
TEL | S0 7 HE B2 MBS EE e T8
TEHX4y « Tfd - FER B Az W B & #A i il A BN
Aok 0. 02 t
(PEKE 4 H)
TVEH 2 1 125,704 | SRR BB 1 =
e T 2 1 49, 653
T T = 1 228, 475
TE g 2 1 62, 057
(T RAEFAT) 2 1 290, 532
BRI E T H = 1 18, 586, 435
T 358 ik T Y 1 4,180
figis T = 1 4,180 |WEis 0.22 t
Ak T Y 1 2,681, 089
&S A T Y 1 406, 250 | A HEIBL 7K 25 m2
ZVEW
EEETHA X T =Y 1 187,497 | EHEERR UMY 1 2y
TAT 7V MEHEERR 15emPA T
SRR (/N RRE) 30 m2
TAT 7V MEHIERR ;
R IR 1 m3
B IR
RSy 1 m3
TAT7IV NS
EIE 30 m2
HAEBRIET A (13) SiEE 40mm 1. dnAi
(1Y 0 SE84: F 0 JE50mmlL )
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THEL | AT EE R N E B ES T

THX4y - LfE - B % & # il pall 2 R
R T 3t 1,050, 182 | EMIME 1A 25 m2
SEHEt=50cm EAF ;
ER S E LD 25 m2
E B 7~ 25 n2
Ty AT X 1,037,160 | ¥ 1L ifE 67 BT
BT = 929, 804
S T e 929,804 | At L ! mz
FAHTFLIA 64 N
R A A 8 R
[V WAYS i 72 A
e Ll vl 2 A
BUG B 7 m
e p =y = 820, 138
PeACH % T it 820, 138 | PEAkE 15 "
VPE
BB T EV 2,512,342
B T =& 2,512,342 | FHFHHE 6 me
2@y (@ TR EFTEOGA) ;
T iy 5 m2
EARTH COAT[:#%5RIALERA ;
T 5 m2
(1/8E)
EARTH COAT[:#%5RIALERA ;
T 5 m2
(2/8H)
EARTH COAT[:#%5RIALERA ;
Ef:lﬁ/% 5 m2
EARTH COAT (iF-n-7— ¥E @tmi%g 106 ;
& 5 m2

EARTH COAT I3ti)-n—7— ¥R Hdeinifl 1in ;
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Vol =
FER N E
TH4 | A TR B2 NRENT S EAR R E S T
TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! EN
BRI E R ALy 0.01 t
(REEZE)
ShEH SRR
#EAY-} 290 m2
HEYE T = 1 110, 560
R LT X 1 106, 195 | BERHEAE 2 1 m
HE
TEHR AL T 2y 1 4,365 | BLEGRAE S E 1 X
HEKEE, HIKE
SRR T = 1 97, 320
AP T X 1 97,320 |iRLEL{Eg ! A
I X 1 11, 431, 002
a8 1. 2 1 1,294,592 | /&5 1 =X
[hig 1 X
Bhi& (v-MBhEE) 1 X
PRk
jie:) 1 X
D
BREXy NRE
Bhi& (v-MBhEE) 1 X
R ITVEZE B
Bhi& (v-MBhEE) 1 X
D
B3 (HaRER#) 1 X
TR
Wk 5 T & 1 1,350,210 | SIS BERR iRk 1 A
AIEEREEE 1 X
SR Bt R B A e B 1 X
RIEET = 1 8,786,200 |ZZiEHE (i E 41 AN H
(A)
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R PERE
THEL | TR R N RSE G T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
AR E A B 390 AH
[P % 2V 1 18, 586, 435 =
Hm IR E E20 1 6, 736, 760
ST e~ 2V 1 1, 888, 760
Erae ot K 1 1,253,580 | $nAEREIR (R HLA5 2 1 E2
Hefi e ey 20 1 64, 180 | ES Rk FAT I 1ERE A 1 =
REE R SART I AR R 1 =«
BUGBREIUEL (REH L) 2V 1 571, 000
sty (R L) 2V 1 4, 848, 000
ol T 2V 1 25, 323, 195
TR e gL E20 1 16,010, 000
(L5 5 E20 1 41, 333, 195
T AT 2V 1 80, 761, 720
— i PR E20 1 13, 158, 280
N E20 1 93, 920, 000
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=+ /A = e
FER N E e
TEL | S0 7 HE B2 MBS EE e T8
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
JE K e = 1 18, 737, 993
NV T = 1 16, 297, 248
1< FERIR T Y 1 16,297,248 |[1Z->0 %L L 0.3 m2
=74 AR
oL L 23 m2
=740 AL ;
HeHES — MRS LR 23 m2
BERR 1L < B IR wiE 396 m2
FEPAyya T/h-K MMTHHAZ
HEYE T Y 1 139, 405
TE LB T =Y 1 139, 405 |3/ -PkFEIA - EHE 0.7 m3
/) -k (BERR)
RISy 0.7 m3
20—k (BERR)
Bl A S iE 1 F2V
Bkt
SN AL T =Y 1 97, 320
AP T X 1 97,320 |iRLEL{Eg ! A
A Y 1 2,204, 020
AEEHT Y 1 2,204, 020 | A3W kB g 26 AR
(4)
BT E A E 78 PN
(B)
[ERANE Xy = 1 18, 737, 993
B R = 1 5, 133, 000
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R PERE i
THEL | TR R N RSE G T
THEXSy - THE - FE5 H7 & & # i Gl 2 N

e Tre: X 1 258, 000
BUGBREIUEL (REH L) 2V 1 258, 000
sty (R L) 2V 1 4, 875, 000
ol T 2V 1 23, 870, 993
e R E20 1 15, 267, 000
T AT 2V 1 39, 137, 993
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